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1. X Co. Ltd. is planning to undertake expansion project where investment of ¥ 20,00,000

is expected. Life of the project is 5 years. Other information is as follows : 14

Particulars t, t, ts t, ts

Cash inflow (% in lakhs) 6 6 6 6 6

Expected interest rate (%) 7 7 7 7 7

Cost of Capital (%) 10 10 10 10 10

Compounded value of one rupee at 1.070 1.145 1.225 1.311 1.403

the rate of 7%

Present value of one rupee at the rate 0.909 0.826 0.751 0.683 0.621

of 10%

Present value of one rupee at the rate 0.862 0.743  0.641 0.552 0.476

of 16 %

Evaluate project under :
(i) Net Present Value
(i1) Internal Rate of Return
(iii)) Terminal Value Method
OR
There are two projects with company Y Co. Ltd. only one project can be implemented.
Considered the following information and evaluate both the projects.

Particulars Project - M  Project - N

Cash outflow (% in lakhs) to 20 25

ty 7 -
Cash Inflow (X in lakhs) t, 7 7.8

t, 8 7.8

ty 9 7.8

ty 8 7.8

ts 7 7.8
Working capital (% in lakhs) 5 5
Scrap value (R in lakhs) 2 2
Cost of Capital 10% 10%
Present value of X 1 at the rate of 10% for 5 years is as follows :

4 ) 4 Yy ts

0.909 0.826 0.751 0.683 0.621
Evaluate project under :

(a) Discounted Payback period

(b) Net present value
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2. Attempt any two :

(a)

(b)
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3. (a)
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One company has investment provision of ¥ 15 crores. Company has five
different proposals. Proposals are divisible. You are asked to determine optimum
combinations of proposals.

(R in crores)

Proposals L M N Q) |
Initial Investment 5 15 2.5 10 5
Net Present Value 1 1.75 0.8 1.25 1.5

Explain Decision Tree.
Rama Ltd. has provided following estimates from the given information
determine whether project should be accepted or rejected.

(X in crores)

Year Initial Cash Certainty Equivalent Present value at
Investment Inflow Coefficient 10% of T 1

to 10 - - -

t - 3 0.90 0.909
t, - 4 0.80 0.826
ty - 6 0.70 0.751
ty - 7 0.60 0.683
t - 4 0.60 0.621

A production department of a manufacturing organization has furnished the

following data for march 2015 :
. Budget | Actual
Particulars ® ®
Direct Material 2,00,000 | 2,55,000
Direct Wages 1,25,000 | 1,62,500
Repairs & Maintenance (% 50,000 fixed) 1,00,000 | 1,10,000
Supervision (fixed) 50,000 55,000
Consumable stores (Variable) 37,500 47,500
Factory Rent (fixed) 25,000 25,000
Depreciation (fixed) 50,000 50,000
Tools (Variable) 12,500 15,000
Power and fuel (variable) 75,000 90,000
Administration (fixed) 1,25,000 | 1,32,500

The department has 50 identical machines. During March, 2015 the budgeted and
actual production of the department are 5,000 and 6,250 units respectively.
However if the department was closed and the machine production services were
hired from outside, the cost of hiring the service of similar machines would be
T 150 per unit.

You are required to present report showing the evaluation of the performance of
the department based on the concept of cost centre.

OR
6
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(a)
(b)
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(a)
(b)
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Write short note on Return on Investment.

Answer in brief : (any two) 4
(1)  What is Responsibility Accounting ?

(i1)  State any four benefits of Responsibility Accounting.

(11) Explain the concept of Residual Income.

Answer in one or two sentences : (any two) 3
(1)  Give examples of controllable and non-controllable items.

(1) What is Responsibility Centres ?

(ii1)) What is Profit Centre ?

Division “A” of a company is a profit centre which produces three Products X, Y
and Z. Each product has an external market. You are furnished following details : 7

Particulars XX | YR | IR
Variable Cost (per unit) 30 | 20 | 26
Labour hours required (per unit) 5 5 2

External market price (per unit) 50 | 45 | 38

Product Y can be transferred to Division “B”, but the maximum quantity that
might be required for transfer is 300 units of Y.
The maximum outside sales are :
X =600 units Y : 400 units Z : 300 units
Instead of receiving transfer of product Y from division “A”, division “B” could
buy similar product from open market at a price of ¥ 43 per unit. What would be
the transfer price for each unit for 300 units of Y if the total labour hours
available in Division “A” are 5100 hours.

OR
Explain “Total Cost” method and “Cost Plus” method of Transfer Pricing.
Answer in brief : (any two) 4
(i)  What is Transfer Price ?
(1) What is the need of Transfer Pricing ?
(1i1) Explain the concept of Dual Pricing method.
Answer in one or two sentences : (any two) 3
(1)  What is Marginal Cost ?
(i)  When the market price method of transfer pricing is adopted ?
(111) Explain the concept of International Transfer Pricing.

5. Select and write correct alternative : 14
(1)  Under method of pricing, two separate transfer pricing methods are used.
(a) Negotiated Transfer Price  (b)  Dual Pricing
(c) Market Price Method (d) Total Cost method
(2) Negotiated transfer price is adopted, when

AH-127

(a) Outside market price is not available
(b) Business is operated in two different countries
(c)  Transfer price is based on marginal cost
(d) Market prices are different
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(3) Under method Return On Investment (ROI) is considered as a profit in
transfer pricing.
(a) Market Price (b)  Dual Pricing
(c) Negotiated Transfer Price  (d) Cost —Plus

(4) Controllable Profit =

(a) Return on investment (b) Revenue — Controllable expenses
(¢) Revenue — Variable cost (d) Revenue — Fixed cost

(5) Responsibility Accounting is a system of
(a) Cost Accounting (b)  Financial Accounting

(c) Management Accounting  (d) All of these
(6) Responsibility centres include

(a) Price centres (b)  Supply centres

(c) Investment centres (d)  Production centres
(7) Transfer pricing is useful for .

(a) Evaluating performance of an enterprise

(b) Evaluating performance of a department

(c) Calculating cost of a product

(d) All of these

(8) IRR s
(a) Cut off rate (b)  Hurdle rate
() WACC (d) All of these

(9) Out of two mutual exclusive projects, which project will be selected ?
(a) whose coefficient of variation is lowest
(b)  whose coefficient of variation is highest
(c)  whose coefficient of variation is equal to IRR
(d)  whose coefficient of variation is equal to WACC
(10) Under which method cash inflow of each year is re-invested ?

(a) Net present value (b) Internal rate of return
(c) Payback period (d) Terminal value

(11) Capital budgeting
(a) Is a decision for future (b) Is adecision for present
(c) Isadecision for past (d) (a)and (b)

(12) Higher the discount rate,
(a) lower the present value (b)  higher the present value

(c) no relation with present value (d) none of these
(13) Where the cost and revenue change at differing rates of inflation, is known as

(a) Differential Inflation (b)  Synchronised Inflation
(c) General Inflation (d)  Specific Inflation
(14) In certainty equivalent approach,
(a) expected cash flow is converted to equivalent risk-free amount
(b) elimination of uncertainty from cash flow
(¢) (a) and (b)
(d) None of these
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